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Total No. of Questions : 9]      [Total No. of Pages :02 

M.Com. DEGREE EXAMINATION, DEC. – 2016 

Second Year 

INTERNATIONAL BUSINESS 

Time : 3 Hours  Maximum Marks : 70 

     SECTION – A (4 × 5 = 20) 

    Answer any 4 of the following 

Q1) a) What is International business? 
   A…™èþÆ>j¡Ä¶ý$ ÐéÅ´ëÆæÿ… A¯@þV>¯óþÑ$? 

. 

 b) Control of IB. 

   IB  Äñý¬MæüP °Ä¶ý$…{™èþ×ý. 
 

 c) MNC corporate culture. 

   MNC Ë M>ÆöµµÆóÿsŒý çÜ…çÜP –†. 
 

 d) Comparative cost theory. 
   ™èþ$Ë¯é™èþÃMæü Ð@þÅÄ¶ý$ íÜ§é®…™èþ…. 
 

 e) Strategic management – objectives. 
   Ð@þNÅà™èþÃMæü °ÆæÿÓçßý×ý & «§óþÅÄ¶ý*Ë$. 
 

 f) Advantages of MNCs. 

   MNC Ë  {ç³Äñý*f¯éË$. 
 

 g) Bilateral agreement. 
   O§ðþÓ´ë„ìüMæü Jç³µ…§æþ…. 
 

 h) Turnkey project. 
   rÆŠÿ²Mîü {́ ëgñýMæü$t. 
 
     SECTION – B (2 × 10 = 20) 

Answer any 2 of the following 

Q2) Explain the strategic considerations in strategic management. 
 Ð@þNÅà™èþÃMæü °ÆæÿÓçßý×ýÌZ VæüË Ð@þNÅà™èþÃMæü ç³ÇVæü×ýË¯@þ$ ™ðþË$µÐ@þ¬. 

Q3)  Discuss the role of IB in development of a country. 

 JMæü §óþÔ¶ý AÀÐ@þ–¨®ÌZ IB ´ë{™èþ¯@þ$ ^èþÇa…ç³#Ð@þ¬. 
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Q4)  Explain about HRM in MNC’s 

MNC  ËÌZ HRM ¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 

Q5)  What Process is involved in strategic planning? 
 Ð@þNÅà™èþÃMæü {ç³×êãMîüMæüÆæÿ×ý {ç³“MìüÄ¶ý$ÌZ §æþÔ¶ýÌôýÑ? 

     SECTION – C (2 × 15 = 30) 

Answer any 2 of the following 

Q6)  Explain about the Multilateral agreements.  
 ºçßý$´ë„ìüMæü Jç³µ…§éË¯@þ$ Væü*Ça Mæü$Ïç³¢…V> ÑÐ@þÇ…ç³#Ð@þ¬. 

Q7)  Write a note on working of WTO. 

 WTO  ç³°¡Ææÿ$¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 

Q8)  What are the modes of international business? 
 A…™èþÆ>j¡Ä¶ý$ ÐéÅ´ëÆæÿ… Äñý¬MæüP ÆæÿM>ÌôýÑ? 

Q9)  Bring out the planning process in MNC’s? 

 MNC  ËÌZ {ç³×êãM> {ç³“MìüÄ¶ý$¯@þ$ Væü*Ça ™ðþË$µÐ@þ¬. 
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(DCM22) 
Total No. of Questions : 9] [Total No. of Pages : 2 

M.Com. DEGREE EXAMINATION, DEC. – 2016 

Second Year 

MANAGEMENT OF INFORMATION SYSTEMS 

Time : 3 Hours  Maximum Marks : 70 

     SECTION – A (5 × 4 = 20) 

    Answer any five of the following 

Q1) a) Types of information systems. 
   çÜÐ@þ*^éÆæÿ Ð@þÅÐ@þçÜ¦ ÆæÿM>Ë$. 
. 

 b) Rational individual models of decision making. 
   °Ææÿ~Ä¶ý$Ð@þ¬ HÆæÿµÆæÿ^èþ$r Äñý¬MæüP ÑÕçÙx Ð@þÅMìü¢Væü™èþ ¯@þÐ@þÊ¯éË$. 
 

 c) Feasibility study. 
   Ýë«§æþÅ™èþ _…™èþ¯@þ. 
 

 d) Security procedures. 
   òÜMæü*ÅÇsîý ç³§æþ®™èþ$Ë$. 
 

 e) Mode of transmission. 
   {sê°ÞÑ$çÙ¯Œþ Äñý¬MæüP È†. 
 

 f) Data communication protocols. 
   yóþsê MæüÐ@þÊÅ°MóüçÙ¯Œþ Äñý¬MæüP {́ ùsZM>ÌŒýÞ. 
 

 g) Embedded SQL. 

   G…»ñýyðþyŠþ SQL. 
 

 h) DBMS selection criteria. 

   DBMS  G… è̂þ$ çÜ*{™èþÐ@þ¬Ë$. 
 
     SECTION – B (2 × 10 = 20) 

Answer any two of the following 

Q2) Discuss decision making process and the information requirements. 
 °Ææÿ~Ä¶ý$Ð@þ¬ ^óþÄ¶ý¬ {́ ùòÜ‹Ü Ð@þ$ÇÄ¶ý¬ M>Ð@þËíÜ¯@þ çÜÐ@þ*^éÆæÿÐ@þ¬ è̂þÇa…^èþ$Ð@þ¬. 

Q3)  Explain MIS design / development process. 
 MIS  MæüËµ̄ @þ / Ð@þ–¨® {́ ùòÜ‹Ü ÑÔ¶ý©MæüÇ…^èþ$Ð@þ¬. 



  
   

W-2598 4 

 

 

Q4)  Explain types of switching. 
íÜÓ_a…VŠü ÆæÿM>Ë$ ÑÔ¶ý©MæüÇ…^èþ$Ð@þ¬. 

Q5)  Discuss emerging data - base - related standards. 
 yóþsê»ôý‹Ü Mæü$ çÜ…º…«̈ …_¯@þ GÐ@þ$Çj…VŠü Ýët…yæþÆæÿ$t Þ ^èþÇa…^èþ$Ð@þ¬. 

     SECTION – C (2 × 15 = 30) 

Answer any two of the following 

Q6)  Discuss the process of information resource assessment.  
 çÜÐ@þ*^éÆæÿÐ@þ¬ËÌZ AòÜ‹ÜÐðþ$…sŒý {́ ùòÜ‹Ü ^èþÇa…^èþ$Ð@þ¬. 

Q7)  Discuss on - line system analysis and design considerations. 
 B¯ŒþOÌñý¯Œþ Ð@þÅÐ@þçÜ¦ ÑÔóýÏçÙ×ý Ð@þ$ÇÄ¶ý¬ MæüËµ̄ @þ ÑÐ@þÆæÿ×ýË$ ^èþÇa… è̂þ$Ð@þ¬. 

Q8)  Explain data communication hardware and software. 
 yóþsê MæüÐ@þÊÅ°MóüçÙ¯Œþ àÆŠÿzÐóþÆŠÿ Ð@þ$ÇÄ¶ý¬ Ýë‹œtÐóþÆŠÿ ÑÔ¶ý©MæüÇ… è̂þ$Ð@þ¬. 

Q9)  Explain RDBMS and Query language. 

 RDBMS  Ð@þ$ÇÄ¶ý¬ MðüÓ“È Ìê…VóüÓi ÑÔ¶ý©MæüÇ…^èþ$Ð@þ¬. 
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(DCM23) 
Total No. of Questions : 09]      [Total No. of Pages :04 

M.Com. DEGREE EXAMINATION, DEC. – 2016 

Second Year 

A - ACCOUNTING 

Accounting : Advanced Financial Accounting 

Time : 3 Hours  Maximum Marks : 70 

     SECTION – A (4 × 5 = 20) 

    Answer any 4 of the following 

Q1) a) Scope of financial accounting 
   Ñ™èþ¢ AMú…sìý…VŠü ç³Ç«̈  

 

 b) Technical analysis 
   Ýë…Móü†Mæü ÑÔóýÏçÙ×ý 
 

 c) Liquidity ratios 
   {§æþÐ@þÅ™èþÓ °çÙµ™èþ$¢Ë$ 
 

 d) Super profit method 
   A™èþÅ«̈ Mæü Ìê¿¶ý ç³§æþ®† 
 

 e) Inter – company transactions  
   A…™èþÆŠÿ Mæü…ò³± Ð@þÅÐ@þàÆæÿÐ@þ¬Ë$ 
 

 f) Financial reporting 
   Ñ™èþ¢ Ç´ùÇt…VŠü 
 

 g) Inflation adjusted statements 
   {§æþÐøÅË¾×ý çÜÆæÿ$ª»êr$ ó̂þíÜ¯@þ °Ðóþ¨MæüË$ 
 

 h) Financial advisor 
   Ñ™èþ¢ çÜËà§éÆæÿ$ 
     SECTION – B (2 × 10 = 20) 

Answer any 2 of the following 

 
Q2) Discuss the analysis and interpretation of financial statements.  
 Ñ™èþ¢°Ðóþ¨MæüË ÑÔóýÏçÙ×ý¯@þ$ Ð@þ$ÇÄ¶ý¬ AÆæÿ¦ ÑÐ@þÆæÿ×ý¯@þ$ ^èþÇa…^èþ$Ð@þ¬. 

Q3)  Explain the treatment of unrealized profit and treatment of dividend. 
 Ð@þçÜ*Ë$ M>° Ìê¿¶ýÐ@þ¬ Ð@þ$ÇÄ¶ý¬ yìþÑyðþ…yæþ$Ë¯@þ$ ç³ÇVæü×ìý… è̂þ$r¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 
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Q4)  The balance sheet of M/S Neelam Company Ltd. was as follows on 31.3.2014. 

  Liabilities Amount Assets Amount 

   Rs.  Rs. 

 Share capital   

 30,000 Equity shares  
 of Rs. 10 each 3,00,000 Fixed assets 2,10,000 

 5,000 8% preference  Debtors 75,000 

 shares of Rs 10 each 50,000 Fictitious assets 90,000 

 Bank loan 40,000 P & L A/C 75,000 

 Creditors  60,000 

   4,50,000  4,50,000 

 The above company has proposed the following scheme of reconstruction and           

implements it after obtaining the consent of all the parties.  

 a) To reduce the values of preference shares and equity shares to Rs. 4.50 each  
without reducing their number. 

 b) The bank has agreed to waive 20% of the outstanding loan. 
 c) The creditors have given consent to allow 5% discount. 

 d) To write off  accumulated losses and fictitious assets and to provide 5% for 
doubtful debts on debtors.  

 Show the balance sheet of the company after reconstruction. 
 31.03.2014 ¯ésìý M/S ±ËÐŒþ$ Mæü…ò³± ÍÑ$sñýyŠþ Äñý¬MæüP BíÜ¦ Aç³šË ç³sîýt D Ñ«§æþ…V> E¯@þ²̈ .  

 Aç³šË$ Ððþ¬™èþ¢… BçÜ$¢Ë$ Ððþ¬™èþ¢… 

   Ææÿ*.  Ææÿ*. 

 Ðésê Ð@þÊË«§æþ¯@þÐ@þ¬  
 30,000 DMîüÓsîý ÐésêË$   

 JMöPMæüPsìý Ææÿ*.10^öç³š¯@þ  3,00,000  
 5,000 B«̈ MæüÅç³# ÐésêË$  íÜ¦Ææÿ BçÜ$¢Ë$ 2,10,000 
 JMöPMæüPsìý  Ææÿ*.10 ^öç³š @̄þ  50,000  º¬×ý“VæüçÜ$¢Ë$ 75,000 

  »ê…Mæü$ Aç³š  40,000 MæüÍµ™èþ BçÜ$¢Ë$ 90,000 

 º¬×ý §é™èþË$ 60,000  Ìê¿¶ý¯@þÚëtË Rê™é  75,000 

   4,50,000  4,50,000 

Oò³¯@þ ™ðþÍµ̄ @þ Mæü…ò³± D “Mìü…¨ ç³#¯@þÇ²Æ>Ã×ý ç³£æþMæü…¯@þ$ {ç³†´ë¨…_¯@þ¨. A°² ´ëÈtË A…XM>Ææÿ…¯@þ$ ´÷…¨¯@þ 
™èþÆæÿ$Ðé™èþ §é°° AÐ@þ$Ë$ ^óþÄ¶ý¬§æþ$Ææÿ$. 

 a) B««̈ MæüÅç³# ÐésêË$ Ð@þ$ÇÄ¶ý¬ DMìüÓsîý ÐésêË çÜ…QÅ¯@þ$ ™èþWY… è̂þMæü$…yé, Ðésìý ÑË$Ð@þË¯@þ$ Ææÿ*. 
4.50 ËMæü$ ™èþWY…^èþÐ@þÌñý. 

 b) »êMîü ç³yìþ E¯@þ² Aç³š 20% @̄þ$ Ææÿ§æþ$ª ^óþÄ¶ý¬rMæü$ »ê…Mæü$ A…XMæüÇ…^ðþ¯@þ$. 
 c) 5% yìþÝûP…r$ C^èþ$arMæü$ º¬×ý§é™èþË$ A…XMæüÇ… ð̂þ¯@þ$. 
 d) çÜ…_™èþOÐðþ$¯@þ ¯@þÚëtË¯@þ$ Ð@þ$ÇÄ¶ý¬ MæüÍµ™èþ BçÜ$¢Ë¯@þ$ Ææÿ§æþ$ª ó̂þÄ¶ý$Ð@þÌñý Ð@þ$ÇÄ¶ý¬ º¬×ý“VæüçÜ$¢ËOò³ 5% 

çÜ…Ô¶ýÄ¶ý*™èþÃMæü »êMîüË$¯@þ$ HÆ>µr$ ó̂þÄ¶ý$Ð@þÌñý¯@þ$. 
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 ç³#¯@þÇ²Æ>Ã×ýÐ@þ¬ ™èþÆæÿ$Ðé™èþ BíÜ¦ Aç³šË ç³sîýt° ^èþ*ç³…yìþ. 
 
Q5)  Narayan and company decided to purchase a business for Rs. 80,000. Its profits for the 

last 4 years are 2011 Rs. 20,000; 2012 Rs. 25,000; 2013 Rs. 24,000 and 2014               

Rs. 23,000. The business was looked after by the management. Remuneration from        

alternative employment ; if not engaged in the business, for the management comes to 

Rs. 3,000 p.a.  

 Find out the amount of goodwill if it is valued on the basis of three years purchase of the 
average net profit for the last four years.  
 ̄ éÆ>Ä¶ý$×ý Mæü…ò³±ÐéÆæÿ$ JMæü ÐéÅ´ëÆæÿ…¯@þ$ Ææÿ*. 80,000 ËMæü$ Mö¯@þ$VøË$ ó̂þÄ¶ý¬rMæü$ °Ææÿ~Ä¶ý$Ð@þ¬ 
ó̂þíÜ¯éÆæÿ$. B çÜ…çÜ¦ çÜ…´ë¨…_¯@þ Ìê¿êË$ 4 çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ËÌZ Ð@þÆæÿ$çÜV> 2011 Ææÿ*. 20,000; 2012 

Ææÿ*. 25,000; 2013 Ææÿ*. 24,000 Ð@þ$ÇÄ¶ý¬ 2014 Ææÿ*. 23,000. Ðóþ$¯óþgŒýÐðþ$…r$ ÐéÆæÿ$ ÐéÅ´ëÆæÿÐ@þ¬¯@þ$ 
°ÆæÿÓíßý… ð̂þ¯@þ$.  Ðóþ$¯óþgŒýÐðþ$…r$ ÐéÆæÿ$ D ÐéÅ´ëÆæÿÐ@þ¬ÌZ ´ëÌŸȲ @þMæü´ùÆÿ¬¯@þrÏÆÿ¬™óþ, ÐóþÆöMæü G…´ëÏÆÿ¬Ððþ$…sŒý 
Ð@þË¯@þ ÐéÇMìü Ð@þ_ā @þ {ç³† çœË… çÜ…Ð@þ™èþÞÆ>°Mìü Ææÿ*. 3,000. 
 Væü™èþ ¯éË$Væü$ çÜ…Ð@þ™èþÞÆæÿÐ@þ¬Ë çÜVæür$ °MæüÆæÿ Ìê¿¶ý… Äñý¬MæüP Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>Ë Mö¯@þ$VøË$ B«§éÆæÿÐ@þ¬V> 
ÑË$Ð@þ Mæüsìýt̄ @þ Væü$yŠþÑÌŒý Ððþ¬™èþ¢Ð@þ¬¯@þ$ ÌñýMìüP… è̂þ…yìþ. 

  
     SECTION – C (2 × 15 = 30) 

Answer any 2 of the following 

Q6)  Following are the particulars of ABC Limited.  

 Equity shares of Rs. 10 each  Rs. 4,00,000 

 5% Debentures  Rs. 1,00,000 

 Current liabilities  Rs. 1,30,000 

 Current assets  Rs. 2,00,000 

 Fixed assets  Rs. 5,50,000 
 Goodwill   Rs.    50,000 

 The profit for the last three years were Rs. 51,600, Rs. 52,000 and Rs. 51,650               
respectively. 20% is transferred to reserve. Normal rate of return is 10%. 

 Compute the value of shares under : 
i) Net assets method 

 ii) Yield method 
 ABC  ÍÑ$sñýyŠþ Äñý¬MæüP ÑÐ@þÆæÿÐ@þ¬Ë$ “Mìü…¨ Ñ«§æþ…V> E¯é²Æÿ¬. 
 DMìüÓsîý ÐésêË$ JMöPMæüPsìý Ææÿ*. 10 ^öç³š @̄þ  Ææÿ*. 4,00,000 
 5% yìþ»ñý…^èþÆæÿ$Ï   Ææÿ*. 1,00,000 
 {ç³çÜ$¢™èþ Aç³šË$   Ææÿ*. 1,30,000 
 {ç³çÜ$¢™èþ BçÜ$¢Ë$   Ææÿ*. 2,00,000 
 íÜ¦Æ>çÜ$¢Ë$    Ææÿ*. 5,50,000 
 Væü$yŠþÑÌŒý    Ææÿ*.    50,000 
 Væü™èþ Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>Ë Ìê¿¶ý… Ð@þÆæÿ$çÜV> Ææÿ*. 51,600, Ææÿ*. 52,000 Ð@þ$ÇÄ¶ý¬ Ææÿ*. 51,650, 

ÇfÆæÿ$Ó @̄þMæü$ 20% @̄þ$ Ð@þ$ãå…_¯éÆæÿ$. Ýë«§éÆæÿ×ý Æ>ºyìþ Æóÿr$ 10%. 
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 ÐésêË ÑË$Ð@þ¯@þ$ 
 i) °MæüÆæÿ BçÜ$¢Ë ç³§æþ®†   ii) Æ>ºyìþ ç³§æþª™èþ$Ë §éÓÆ> ÌñýMìüP… è̂þ$Ð@þ¬. 
  
  
Q7)  From the information given below, calculate the following ratios : 

a) Quick ratio 

b) Stock turnover ratio 

c) Debt – Equity ratio 

d) Return on investment 

Information : Current assets Rs. 5,00,000; Opening stock Rs. 50,000; Closing stock       

Rs. 1,50,000; Cost of goods sold Rs. 12,00,000; Gross profit Rs. 2,00,000; Indirect      

expenses Rs. 20,000; Equity share capital Rs. 7,00,000; 10% preference share capital      

Rs. 3,00,000; 12% Debentures Rs. 2,00,000; Current liabilities Rs. 2,00,000; General        

Reserve Rs. 1,00,000.  
 ¨Væü$Ð@þ C_ā @þ çÜÐ@þ*^éÆæÿÐ@þ¬™ø D “Mìü…¨ °çÙµ™èþ$¢Ë¯@þ$ ÌñýMìüP…^èþ…yìþ. 

a) ™èþÓÇ™èþ °çÙµ†¢ 
b) ÝëtMŠü rÆø²Ð@þÆŠÿ °çÙµ†¢ 
c) Aç³š --& DMìüÓsîý °çÙµ†¢ 
d) ò³r$tºyìþ Ò$§æþ Æ>ºyìþ 

 çÜÐ@þ*^éÆæÿÐ@þ¬ : {ç³çÜ$¢™èþ BçÜ$¢Ë$ Ææÿ*. 5,00,000;  {́ ëÆæÿ…¿¶ýç³# çÜÆæÿ$Mæü$ Ææÿ*. 50,000; Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ 
Ææÿ*. 1,50,000; AÑ$Ã¯@þ Ð@þçÜ$¢Ð@þ#Ë QÈ§æþ$ Ææÿ*. 12,00,000; çÜ*¦Ë Ìê¿¶ý… Ææÿ*. 2,00,000; ç³Æø„æüç³# 
QÆæÿ$aË$ Ææÿ*. 20,000; DMìüÓsîý Ð@þÊË«§æþ¯@þ… Ææÿ*. 7,00,000; 10% B«̈ MæüÅç³# ÐésêË$ Ð@þÊË«§æþ¯@þ… Ææÿ*. 
3,00,000; 12% yìþ»ñý… è̂þÆæÿ$Ï Ææÿ*. 2,00,000; {ç³çÜ$¢™èþ Aç³šË$ Ææÿ*. 2,00,000; Ýë«§éÆæÿ×ý ÇfÆæÿ$Ó     
Ææÿ*. 1,00,000. 

 
Q8)  Write the following : 

a) Minority interest 
b) Cost of control of goodwill 
c) Preparation of consolidated Accounts 

 D “Mìü…¨ Ðé°° {ÐéÄ¶ý¬Ð@þ¬. 
a) AËµ çÜ…RêÅMæü$Ë BÔ¶ýMìü¢ 
b) Væü$yŠþ ÑÌŒý °Ä¶ý$…{™èþ×ý Ð@þÅÄ¶ý$… 
c) HMîüMæü–™èþ Rê™éË$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬r 

 

Q9)  What are the recent trends in published accounts? Discuss the value added statements.  
 {ç³Mæüsìý…^èþºyìþ¯@þ Rê™éËÌZ CsîýÐ@þËM>Ë…ÌZ «§øÆæÿ×ý$Ë$ HÑ$sìý? ÑË$Ð@þ B«§éÇ™èþ °Ðóþ¨MæüË¯@þ$ 

è̂þÇa…^èþ$Ð@þ¬. 
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 (DCM24) 
Total No. of Questions : 09]      [Total No. of Pages :04 

M.Com. DEGREE EXAMINATION, DEC. – 2016 

Second Year 

A - ACCOUNTING 

Accounting : Advanced Cost and Management Accounting 

Time : 3 Hours  Maximum Marks : 70 

     SECTION – A (4 × 5 = 20) 

    Answer any 4 of the following 

Q1) a) Objectives of cost accounting system 
   Ð@þÅÄ¶ý$ AMú…sìý…VŠü Ð@þÅÐ@þçÜ¦ Äñý¬MæüP «§óþÅÄ¶ý*Ë$ 

 

 b) Cost allocation 
   Ð@þÅÄ¶ý$ MóüsêÆÿ¬…ç³# 
 

 c) Joint products 
   EÐ@þ$Ãyìþ Ð@þçÜ$¢Ð@þ#Ë$ 
 

 d) Standard costing  
   {́ ëÐ@þ*×ìýMæü Ð@þÅÄ¶ý*…Mæü¯@þ… 
 

 e) Factory ledger 
   ¸ëÅMæütÈ BÐ@þÆ>j 
 

 f) Learning curve analysis 
   ÌñýÇ²…VŠü ÆóÿQ ÑÔóýÏçÙ×ý 
 

 g) Role of cost accounting 
   Ð@þÅÄ¶ý$ GMú…sìý…VŠü Äñý¬MæüP ´ë{™èþ 
 

 h) Flexible budgeting 
   AíÜ¦Ææÿ ºyðþjsìý…VŠü 
     SECTION – B (2 × 10 = 20) 

Answer any 2 of the following 

 
Q2) Define cost accounting. Explain it’s nature and scope. 
 Ð@þÅÄ¶ý$ AMú…sìý…VŠü¯@þ$ °ÆæÿÓ_…_, §é° Äñý¬MæüP çÜÓ¿êÐ@þ… Ð@þ$ÇÄ¶ý¬ ç³Ç«̈ Ë¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

Q3)  Define normal loss, abnormal loss and abnormal gain. How these are treated in process 

cost accounts?  
 Ýë«§éÆæÿ×ý ¯@þçÙt…¯@þ$ AÝë«§éÆæÿ×ý ¯@þçÙt…¯@þ$ Ð@þ$ÇÄ¶ý¬ AÝë«§éÆæÿ×ý Ìê¿êÐ@þ¬¯@þ$ °ÆæÿÓ_…^èþ$Ð@þ¬. Òsìý° 

{́ ëòÜ‹Ü Ð@þÅÄ¶ý$Rê™éËÌZ H Ñ«§æþ…V> ç³ÇVæü×ìý…^ðþ§æþÆæÿ$? 
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Q4)  From the following particulars prepare, a flexible budget for 80% and 100% capacities. 

  Level of activity  50% (5000 units) 

  Materials  Rs.10 per unit 

  Labour  Rs. 5 per unit 

  Direct expenses Rs. 3 per unit 

  Factory overheads Rs. 50,000 (10% fixed) 

  Administration overheads Rs. 1,00,000 (fixed) 

  Selling overheads Rs. 30,000 (30% variable) 
 D ¨Væü$Ð@þ C_ā @þ ÑÐ@þÆ>Ë B«§éÆæÿ…V> 80% Ð@þ$ÇÄ¶ý¬ 100% E™éµ§æþMæüÔ¶ýMìü¢ËMæü$ AíÜ¦ÆæÿºyðþjsŒý¯@þ$ ™èþÄ¶ý*Ææÿ$ 
ó̂þÄ¶ý¬Ð@þ¬. 

  E™éµ§æþMæü Ýë¦Æÿ¬/Ô¶ýMìü¢ 50% (5000 Ä¶ýÊ°r$Ï) 
  Ððþ$sîýÇÄ¶ý$ÌŒýÞ  Ä¶ýÊ°sŒý JMæüP…sìýMìü Ææÿ*. 10 
  “Ô¶ýÐ@þ$   Ä¶ýÊ°sŒý JMæüP…sìýMìü Ææÿ*. 5 
  {ç³™èþÅ„æüQÆæÿ$aË$  Ä¶ýÊ°sŒý JMæüP…sìýMìü Ææÿ*. 3 
  ¸ëÅMæütÈ KÐ@þÆŠÿ òßýyŠþÞ Ææÿ*. 50,000 (10% íÜ¦Ææÿ…) 

  ç³Ç´ëË¯é KÐ@þÆŠÿ òßýyŠþÞ Ææÿ*. 1,00,000 ( íÜ¦Ææÿ…) 

  AÐ@þ$ÃMæüç³# KÐ@þÆŠÿ òßýyŠþÞ Ææÿ*. 30,000 (30% è̂þÆæÿ) 
 

Q5)  From the following information find out : 

a) Material cost variance. 
b) Material price variance 

 c) Material usage variance 
 Quantity of materials purchased 3000 units 

 Value of material purchased Rs. 9,000 
 Standard Quantity of material required per tonne of finished product  25 units 

 Standard rate of materials Rs. 2 per unit 

 Opening stock of materials Nil 

 Closing stock of materials 500 units 

 Finished production during the year  80 tonnes 
 D “Mìü…¨ ÑÐ@þÆæÿÐ@þ¬Ë™ø 
 Mö¯@þ$VøË$ ^óþíÜ¯@þ Ððþ$sîýÇÄ¶ý$ÌŒýÞ ç³ÇÐ@þ*×ý…  3000 Ä¶ýÊ°r$Ï 
 Mö¯@þ$VøË$ ^óþíÜ¯@þ Ððþ$sîýÇÄ¶ý$ÌŒý ÑË$Ð@þ Ææÿ*. 9,000 
 JMæü r¯@þ$² ç³NÇ¢V> ™èþÄ¶ý*OÆðÿ¯@þ Ð@þçÜ$¢Ð@þ#ËMæü$ M>Ð@þËíÜ¯@þ Ððþ$sîýÇÄ¶ý$ÌŒý Äñý¬MæüP  
 {́ ëÐ@þ*×ìýMæü ç³ÇÐ@þ*×ý… 25 Ä¶ýÊ°r$Ï 
 Ððþ$sîýÇÄ¶ý$ÌŒýÞ {́ ëÐ@þ*×ìýMæü Æóÿr$ JMæü Ä¶ýÊ°sŒýMìü Ææÿ*.2 
 Ððþ$sîýÇÄ¶ý$ÌŒýÞ {́ ëÆæÿ…¿¶ýç³# °ËÓ Nil 
 Ððþ$sîýÇÄ¶ý$ÌŒýÞ Ð@þ¬W…ç³# °ËÓ 500 Ä¶ýÊ°r$Ï 
 çÜ…Ð@þ™èþÞÆæÿ M>Ë…ÌZ ç³NÇ¢V>™èþÄ¶ý*OÆðÿ¯@þ E™èþµ†¢ 80 r @̄þ$²Ë$ 
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(DCM25) 
Total No. of Questions : 09]      [Total No. of Pages :04 

M.Com. DEGREE EXAMINATION, DEC. – 2016 

Second Year 

A - ACCOUNTING 

Accounting : Taxation 

Time : 3 Hours  Maximum Marks : 70 

     SECTION – A (4 × 5 = 20) 

    Answer any four of the following 

Q1) a) Assessee 
   AòÜïÜÞ 
 b) Permanent Account Number 
   Ô>Ô¶ýÓ™èþ Rê™éçÜ…QÅ 
 c) Agricultural income 
   Ð@þÅÐ@þÝëÄ¶ý$Mæü B§éÄ¶ý$Ð@þ¬ 
 d) House Rent Allowance 
   C…sìý A§ðþª ¿¶ý™èþÅ… 
 e) Unrealised rent 
   Ð@þçÜ*Ë$ M>° A§ðþª 
 f) Company 
   Mæü…ò³± 
 g) Self assessment 
   çÜÓÄ¶ý$… ç³¯@þ$² °Æ>®Ææÿ×ý 
 h) Partition of HUF 

   HUF Ñ¿¶ýf¯@þ 
     SECTION – B (2 × 10 = 20) 

Answer any two questions 

Q2) Explain how tax liability of an assessee is determined with reference to his residence? 
 AòÜïÜÞÄñý¬MæüP °ÐéçÜ {ç³†ç³†¢°ºsìýt ç³¯@þ$² »ê«§æþÅ™èþ¯@þ$ H Ñ«§æþÐ@þ¬V> °Ææÿ~Æÿ¬… è̂þÐ@þ^èþ$ā @þ$? 
Q3)  Mr. Satyam is an employee in a limited company in Hyderabad. He provides the 

following particulars of his salary income for  the previous year 2014-15. 

 a) Basic salary Rs. 20,000 p.m.  

b) Profit bonus Rs. 20,000 per annum 

c) Commission on turnover achieved by Satyam Rs. 50,000 

d) Entertainment allowance Rs. 2,000 p.m. 

e) Club facility (amount paid by the employer) Rs. 6,000 

f) Conveyance allowance Rs. 1000 p.m. 

g) Free use of 20 H.P. car for both personal and employment purposes, expenses are 

met by the employer. 
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h) Free medical facility Rs. 25,000 

i) He paid profession tax Rs. 200 p.m. 

j) Gas, Water and Electricity bill issued in the name of employee but paid by the    

employer 16,800 

Compute income under the head salary for the assessment year 2015-16. 
 } çÜ™èþÅ… Oòßý§æþÆ>»ê§ŠþÌZ° JMæü ÍÑ$sñýyŠþ Mæü…ò³±ÌZ E§øÅW. A™èþyæþ$ 2014&15 Væü™èþ çÜ…Ð@þ™èþÞÆ>°Mìü A™èþ° 

i™èþ… ¯@þ$…yìþ B§éÄ¶ý$ ÑÐ@þÆ>Ë¯@þ$ A…¨çÜ$¢̄ é²yæþ$. 
 a) Ð@þÊË i™èþ… ¯ðþËMæü$ Ææÿ*. 20,000  

b) Ìê¿¶ý… »Z¯@þçÜ$ çÜ…Ð@þ™èþÞÆ>°Mìü Ææÿ*. 20,000 

c) ™é¯@þ$ Ýë«̈ …_¯@þ AÐ@þ$ÃM>Ë Oò³ A™èþyæþ$ BÇj…_¯@þ MæüÒ$çÙ¯@þ$ Ææÿ* 50,000 

d) Ñ¯ø§æþç³# AËÐðþ¯@þ$Þ ¯ðþËMæü$ Ææÿ*. 2,000  
e) MæüÏ»Œý ÝûMæüÆæÿÅÐ@þ¬ (Ä¶ý$fÐ@þ*° ð̂þÍÏ…_¯@þ¨) Ææÿ*. 6,000  
f) ÆæÿÐé×ê (Ðéçßý¯@þ) AËÐðþ¯@þ$Þ ¯ðþËMæü$ Ææÿ*. 1000 

g) 20 H.P VæüË M>Ææÿ$ E_™èþ…V> M>Æ>ÅËÄ¶ý$… Ð@þ$ÇÄ¶ý¬ Ð@þÅMìü¢ Væü™èþ AÐ@þçÜÆ>ËMæü$ (QÆæÿ$a Ððþ¬™èþ¢… Mæü…ò³± 
ð̂þÍÏçÜ$¢…¨) çÜÐ@þ$Mæü*Çā éyæþ$. 

h) E_™èþ OÐðþ§æþÅ çÜ§æþ$´ëÄ¶ý$… Ææÿ*. 25,000 

i) A™èþyæþ$ ^ðþÍÏ…_¯@þ Ð@þ–†¢ ç³¯@þ$² ¯ðþËMæü$ Ææÿ*. 200 
j) V>Å‹Ü, ±Ææÿ$, Ñ§æþ$ÅÔ¶ýeaMìü¢  QÆæÿ$aË$ (¼Ë$Ï E§øÅW õ³Çr C_ā @þç³µsìýMìü Ä¶ý$fÐ@þ*°Äôý$ ð̂þÍÏ…_¯@þ¨)     

Ææÿ*. 16,800  
 2015 & 16 ç³¯@þ$² °Æ>®Ææÿ×ý çÜ…Ð@þ™èþÞÆ>°Mìü i™èþ…¯@þ$…yìþ B§éÄ¶ý*°² ÌñýMìüP…^èþ…yìþ.  
Q4)  Mr. Indraji is the owner of two - storeyed house in Patna. The first floor is occupied by 

him for his own residence and the ground floor (similar in every respect to the first 

floor) is let out at a rent of Rs. 3000 p.m. 

 Compute the income from house property on the basis of the following particulars for 

the financial year 2014 - 15. 
   Date of construction  : 1

st
 May 2002 

   Municipal value : Rs. 60,000 
   Fair rent : Rs. 90,000 

   Municipal taxes : Rs. 3,600 paid by owner 
   Repair charges : For ground floor (borne by tenant) Rs. 13,500 

   Collection charges : Rs. 1,800   
 ´ësê²ÌZ° Æðÿ…yæþ…™èþçÜ$¦Ë ¿¶ýÐ@þ¯é°Mìü } C…{§éh Ý÷…™èþ§éÆæÿ$yæþ$. Ððþ¬§æþsìý A…™èþçÜ$¦ÌZ A™èþyæþ$ 

°ÐéçÜÐ@þ¬…yæþ$¯@þ$. “Mìü…¨ A…™èþçÜ$¦̄ @þ$ (A°² Ñ«§éÌê Ððþ¬§æþsìý A…™èþçÜ$¦̄ @þ$ ´ùÍÄ¶ý¬…yæþ$¯@þ$) ¯ðþËMæü$ Ææÿ*. 
3,000 Ë ^öç³š¯@þ A§ðþªMìü^ðþā @þ$. 2014&15 BÇ¦Mæü çÜ…Ð@þ™èþÞÆ>°Mìü Væü–àíÜ¦ ¯@þ$…yìþ B§éÄ¶ý$Ð@þ¬¯@þ$ D “Mìü…¨ 
ÑÐ@þÆ>Ë çÜàÄ¶ý$Ð@þ¬™ø ÌñýMæüPMæür$tÐ@þ¬. 

   °Æ>Ã×ý ™óþ© : 1 Ðóþ$ 2002 
   Ð@þ¬°íÜç³ÌŒý ÑË$Ð@þ : Ææÿ*. 60,000 
   Ä¶ý¬Mæü¢ OÐðþ$¯@þ A§ðþª : Ææÿ*. 90,000 
   Ð@þ¬°íÜç³ÌŒý ç³¯@þ$²Ë$ : Ææÿ*. 3,600 Ý÷…™èþ §éÆæÿ$yæþ$ ^ðþÍÏ…^ðþ¯@þ$ 
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 Ð@þ$ÆæÿÐ@þ$Ã™èþ$¢ QÆæÿ$aË$ “Mìü…¨ A…™èþçÜ$¦Mæü$ Ææÿ* 13,500 (A§ðþªMæü$¯@þ² Ð@þÅMìü¢ ¿¶ýÇ… è̂þ$¯@þ$)  
   Ð@þçÜ*Ë$ béÈjË$ : Ææÿ*. 1,800 
Q5)  State the incomes of other persons that are included in the total income of the assessee. 
 AòÜïÜÞ Ððþ¬™èþ¢… B§éÄ¶ý$…ÌZ MæüË$ç³ºyóþ C™èþÆæÿ Ð@þÅMæü$¢Ë B§éÄ¶ý*Ë¯@þ$ ™ðþË$ç³#Ð@þ¬. 

    SECTION – C  (2 × 15 = 30) 
Answer any two questions 

Q6)  Discuss the permissible deductions U/S 80 from gross total income.  
 çÜ*¦Ë Ððþ¬™èþ¢… B§éÄ¶ý$… ¯@þ$…yìþ òÜ„æü¯Œþ 80 {ç³M>ÆæÿÐ@þ¬ A¯@þ$Ð@þ$†… è̂þºyìþ¯@þ ™èþWY…ç³#Ë¯@þ$ ^èþÇa…^èþ$Ð@þ¬. 
Q7)  Calculate the taxable income of Mr. Bhaskaran from the following for the assessment 

year 2015 – 16. 
 a) Salary Rs. 40,000 per month 

b) Income from house property Rs. 45,000; taxes paid Rs 3000. 
c) Profit from Iron business Rs. 1,30,000 

d) Loss from cement dealership Rs. 1,70,000 
e) Profit from gold speculation business Rs. 3,60,000 

f) Winning from horse races Rs. 52,000 
g) Loss from shares speculation business Rs. 2,00,000 

h) Loss from card games Rs. 16,000 

i) Brought forward loss from Iron business Rs. 40,000 (related to 2012-13 A.Y.) 

j) Dividend from a company Rs. 25,000 
 2015 &16 ç³¯@þ$² °Æ>¦Ææÿ×ý çÜ…Ð@þ™èþÞÆ>°Mìü D “Mìü…¨ ÑÐ@þÆæÿÐ@þ¬Ë¯@þ$…yìþ } ¿êçÜPÆæÿ¯Œþ Äñý¬MæüP ç³¯@þ$² 
Ñ«̈ …ç³§æþW¯@þ B§éÄ¶ý$Ð@þ¬¯@þ$ ÌñýMìüP…^èþ$Ð@þ¬. 
a) i™èþÐ@þ¬ ¯ðþËMæü$ Ææÿ*. 40,000 

 b) Væü–çàíÜ¦ ¯@þ$…yìþ B§éÄ¶ý$… Ææÿ*. 45,000, ð̂þÍÏ…_¯@þ ç³¯@þ$²Ë$ Ææÿ*. 3000 
 c) IÆæÿ¯Œþ ÐéÅ´ëÆæÿ… ¯@þ$…yìþ Ìê¿¶ýÐ@þ¬ Ææÿ*. 1,30,000 
 d) íÜÐðþ$…sŒý yîþËÆŠÿ íÙ‹³ ¯@þ$…yìþ ¯@þçÙtÐ@þ¬ Ææÿ*. 1,70,000 
 e) º…V>Ææÿ… ¯@þsêt ÐéÅ´ëÆæÿ… ¯@þ$…yìþ Ìê¿¶ý… Ææÿ*. 3,60,000 
 f) Væü$“Ææÿç³# ç³…§ðþÐ@þ¬Ë$ ¯@þ$…yìþ VðüË$´÷…¨¯@þ¨ Ææÿ*. 52,000 
 g) ÐésêË ¯@þsêt ÐéÅ´ëÆæÿ… ¯@þ$…yìþ ¯@þçÙt… Ææÿ*. 2,00,000 
 h) õ³M>r ¯@þ$…yìþ ¯@þçÙt… Ææÿ*. 16,000 
 i) Ð@þ¬…§æþ$Mæü$ ¡çÜ$Mæü$Æ>ºyìþ¯@þ IÆæÿ¯Œþ ÐéÅ´ëÆæÿ ¯@þçÙt… Ææÿ*. 40,000 
  (2012 & 13 A.Y. ¯@þMæü$ çÜ…º…«̈ …_¯@þ¨) 

 j) Mæü…ò³± ¯@þ$…yìþ yìþÑyðþ…yæþ$ Ææÿ*. 25,000 
Q8)  What are the provisions of Income Tax Act relating to advance payment of tax? 
 Ð@þ¬…§æþ$V> ^ðþÍÏ…_¯@þ ç³¯@þ$²Mæü$ çÜ…º…«̈ …_¯@þ B§éÄ¶ý$…ç³¯@þ$² ^èþrt… Äñý¬MæüP °º…«§æþ¯@þË$ HÑ$? 

Q9)  X is the Karta of a Hindu undivided family. The family consists of X and his two     

brothers – Y and Z, as co – parceners. The family and the co – parceners has the           

following incomes and investments for the year ending 31.3.2015 

a) Salary of Y as manager of a company Rs. 6,00,000 
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b) Interest on Government securities : 

  i) Investment made in the name of Y (Purchased out of his salary) Rs. 40,000 

 ii) Investment made in the name of X (Purchased out of family funds) Rs. 9,000 

c) Income from house property : 

i) Municipal value of ancestral property used for residential purposes by the 

family Rs. 70,000  

ii) Rent received from the house in the name of X(bought out of family funds) 

Rs. 89,000. 

 d) Income from business / profession : 
  i) Profit from family business Rs. 5,18,700 

  ii) Income of Z as lawyer Rs. 2,29,500 
 e) Income from interest on bank deposits Rs. 27,000 

 f) The family has paid Rs. 45,000 towards life insurance premium on the life of its 
members. 

 g) The family has deposited Rs. 25,000 in the National Savings Scheme. 
 h) The family pays health insurance premium of Rs. 9000 by cheque under          

mediclaim 

 Compute the taxable income for the assessment year 2015 - 16  

X JMæü AÑ¿¶ýMæü¢ íßý…§æþ* Mæü$r$…º…ÌZ MæüÆæÿ¢. B Mæü$r$…º…ÌZ X MæüÆæÿ¢ Ð@þ$ÇÄ¶ý¬ A™èþ° C§æþªÆæÿ$ Ýù§æþÆæÿ$Ë$ & Y 

Ð@þ$ÇÄ¶ý¬ Z Ë$ çÜçßý¿êVæüÝëÓÐ@þ¬Ë$. 31.3.2015 ™ø A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™èþÞÆ>°Mìü Mæü$r$…º… Ð@þ$ÇÄ¶ý¬ 
çÜçßý¿êVæüÝëÓÐ@þ¬Ë$ MæüÍWÄ¶ý¬¯@þ² B§éÄ¶ý*Ë¯@þ$ “Mìü…§æþ CÐ@þÓyæþ… fÇW…¨.  
a) Y  JMæü Mæü…ò³± Ðóþ$¯óþfÆæÿ$V> ´÷…¨¯@þ i™èþ… Ææÿ*. 6,00,000 
b) {ç³¿¶ý$™èþÓ òÜMæü*ÅÇsîýË Oò³ Ð@þyîþz : 
  i) Y ™èþ¯@þ i™èþ… ¯@þ$…yìþ Mö¯@þ$VøË$ ó̂þíÜ¯@þ òÜMæü*ÅÇsîýË Oò³ ´÷…¨¯@þ Ð@þyîþz Ææÿ*. 40,000  

 ii) Mæü$r$…º… °«§æþ$Ë™ø X õ³Ææÿ$ Ò$§æþ Mö¯@þ$VøË$ ó̂þíÜ¯@þ òÜMæü*ÅÇsîýË Oò³ Ð@þyîþz Ææÿ*. 9,000  
c) Væü–àíÜ¦̄ @þ$…yìþ B§éÄ¶ý$… : 

i) Mæü$r$…º… Ý÷…™é°Mìü Ðéyæþ$Mæü$…r$¯@þ² ç³NÈÓMæü$Ë ¯@þ$…yìþ çÜ…“MæüÑ$…_¯@þ Væü–çßý…Äñý¬MæüP 
Ð@þ¬°Þç³ÌŒý ÑË$Ð@þ Ææÿ*. 70,000  

ii) X õ³Ææÿ$ Ò$§æþ Væü–çßý…¯@þ$…yìþ A§ðþª (Mæü$r$…º… °«§æþ$Ë™ø Mö¯@þ²¨) Ææÿ*. 89,000  
 d) ÐéÅ´ëÆæÿÐ@þ¬ / Ð@þ–†¢ ¯@þ$…yìþ B§éÄ¶ý$… : 
  i) Mæü$r$…º ÐéÅ´ëÆæÿ B§éÄ¶ý$… Ææÿ*. 5,18,700 

  ii) Z Mæü$ ÌêÄ¶ý$ÆŠÿV> B§éÄ¶ý$… Ææÿ*. 2,29,500 

 e) »ê…MŠü yìþ´ëhsŒý Ë Oò³ Ð@þ_ā @þ Ð@þyîþz Ææÿ*. 27,000 

f) Mæü$r$…º…ÌZ° çÜ¿¶ý$ÅË…§æþÇ õ³Ææÿ$ Ò$§æþ MæüË iÑ™èþ ÁÐ@þ* ´ëËïÜ Oò³ ð̂þÍÏ…_¯@þ {ï³Ñ$Ä¶ý$…          
Ææÿ*. 45,000  

g) gê¡Ä¶ý$ ´÷§æþ$ç³# ç³£æþMæü…ÌZ Mæü$r$…º… fÐ@þ$^óþíÜ¯@þ Ððþ¬™èþ¢… Ææÿ*. 25,000  
h) Mæü$r$…º… ð̂þÍÏ…_¯@þ BÆøVæüÅ ÁÐ@þ* {ï³Ñ$Ä¶ý$… Ææÿ*. 9000. §é°° Ððþ$yìþMðüÏÆÿ¬ÐŒþ$ “Mìü…§æþ ^ðþMæü$P 

§éÓÆ> fÐ@þ$ ó̂þÄ¶ý$yæþOÐðþ$¯@þ¨. 
2015 & 16 ç³¯@þ$² °Æ>¦Ææÿ×ý çÜ…Ð@þ™èþÞÆ>°Mìü Mæü$r$…º… Äñý¬MæüP ç³¯@þ$² Ñ«̈ …^èþ§æþVæü$ B§éÄ¶ý*°² Væü×ìý…^èþ…yìþ. 


